
Time: 30 Minutes Paper Math 5 (T-1) Total Marks: 25

1st Month, 3rd Week, 6th  Day Multiplication and Division 

Q.No.1. Choose the correct option. (1 x 13 = 13) 
i) The product of 3 090 and 100 is:  100  3 090

(a) 309 100 (b) 309 000 (c) 319 001 (d) 319 000

ii) What will be the quotient and remainder when we divide 25 111 by 69?

 69 25 111
(a) 361 r64 (b) 362 r64 (c) 363 r64 (d) 364 r64

iii) What is the product of 633 and 37 ?  37  633

(a) 21 421 (b) 23 412 (c) 23 421 (d) 27 521

iv) Divide 9 405 by 45 we get:  45 9 405

(a) 207 (b) 211 (c) 213 (d) 209

v) The price of computer is Rs. 64 700. What will be the price of 15 computers?

 15  64 700 
(a) Rs. 960 800 (b) Rs. 970 500 (c) Rs. 950 500 (d) Rs. 980 700

vi) Salma distribute 6 084 books equally among 12 friends. How many books
does each friends get?

 12  6 084
(a) 507 (b) 509 (c) 511 (d) 512

vii) A bus covers a distance of 1 288 km in 23 hours. The distance covered by

it in one hour:  1 288  23 
(a) 46 (b) 56 (c) 55 (d) 58

viii) Zaid's monthly income is Rs. 9 500. His total income in 120 months:

:  120  9 500 
(a) Rs. 1 120 000  1 120 000 (b) Rs. 1 210 000  1 210 000

(c) Rs. 1 140 000  1 140 000 (d) Rs. 1 310 000  1 310 000

ix) 26 166 ÷ 98  = ?

(a) 261 (b) 263 (c) 265 (d) 267

x) Thre product of 102 and 1 000 is : :  1 000  102

(a) 102 000 (b) 112 100 (c) 120 200 (d) 120 000

xi) Divide 95 500 by 50 we get:  50 95 500

(a) 1 919 (b) 1 910 (c) 1 911 (d) 1 901

xii) What is the product of 509 and 39 ?  509  39

(a) 17 805 (b) 19 051 (c) 19 851 (d) 21 851

xiii) Solution of 11 303 ÷ 89 is   11 303 ÷ 89

(a) 107 (b) 117 (c) 121 (d) 127

Q.No.2. Solve the following. (4 x 2 = 8) 
i) 90 902 × 643

__________________________________________________________________

ii) 86 449 ÷ 29

__________________________________________________________________

iii) 85 141 ×  102

__________________________________________________________________

iv) 66 693  ÷  33

__________________________________________________________________

Q.No.3. There are 145 boxes of pencils in one shop. Each box has 5 pencils. If
48 boxes are of blue pencils and the rest are of red pencils, then find:

 48






 5  145 


a) The total number of pencils.      (a

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

a) The number of red pencils.   


      (b

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________
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